Winter

This is the solution to the puzzle located here.
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BLACK ICE HAIL SEASON SNOWBOARD
BLIZZARD HEADBAND SKATES SNOWFLAKE
BOOTS HIBERNATION SKI DOO SNOWMAN
CARNIVAL HOCKEY SKI PANTS SNOWSHOES
CHRISTMAS HOLIDAYS SKIING SOLSTICE
COLD ICE FISHING SLED SOuUP
FIREPLACE  KNIT CAP SLIPPERY  STORW
FIREWOOD LONG UNDERWEAR SNOW CASTLE SWEATSHIRT
FREEZE  OLYMPICS SNOW SHOVEL  VACATION.
FROST PARKA SNOW TIRES WIND CHILL
GLOVES SCARF SNOWBALL WOOL SOCKS

The hidden sentence is: ONE KIND WORD CAN WARM THREE WINTER MONTHS



